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Hence

In (y(1) - In /Yu
, trap) = O(tin)

While

Im Lydi - In dyp
,
:z +O(i)

so In (y(1) - In (yp , traph
is smaller as 1 -> c

(a) #f y(t) = atbtic , then

y - zy = (2at + b) - 2(at+btrc)

- (-2a)t2 + (2a - 2b) + + b-2

So if this equals +?
,
we













(5)x
,
= c

,
+ (2)'k) = 1

Xa & , + 22(12) : 42

so a = 0 ,
Cz = 2

,
so

Xn = 2)'k)

(5d) MATLAB reports
:

X [1003 . 299 = I X4l00) .2 1 = G
/

(52) (i) Ho : Xn for 2 1200 is

never reported as O
.

(ii) An examination of

for n = 1 : 1200
,
X4n3-(11)""

,
end

(there are many variants) shows that

X (1075) is reported as (1/2)1074

(and both as 4 ,9406 ... 10-324) while



X 210763 is reported as the same ( !)

While (12)107S (as above) is reported as O .

(iii) We take No - 1076 and note :

(3/2) x 410753 reported as

9,88131... < 10324 (twice as large

as X410763)( and

(112) X 41074] is reported (correctly
as 4

,9466
...

x /8-324

1074

(iv) By multiples of m = (12)

- 4
.9406 -- x 18324 , MATLAB reports

X &1072] : 8 m
,
x41073] = 4 m4 x (10743 = 2m , x41075) : m &

and



X (1076] : m
, X41077y = Im,

x (1078] = 3m
,
X41079] = 3m,

X 410803 : 2m ,

X 4108B : m

x410824 : m
,

X21083] = 2 m

i

And the pattern repeats every

6 steps.

(Since this is a lo-term recurrence,

We know that since

x 210763 = x[1082] = m

X (10773 = x 41083) = 2 m

that things have to cycle in this

pattern.]


